EANRAROESIERT —

ZN—ABISH—F

2014598280 (H

)_7[EIERF5H

m C1=# Yo% (xwlw | lmEmml - |5 @) w8
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— R AMRE 142, - . - EEE (KR)
1 g|=Av b Fa-— 4B 1(4_2)0 e 1 <5+037) i
L:7NHhtEy b BRI LY v X Ik 7
NS # 3 | KHE 1:42.2 2-2 38.6| — 8 441 | FHEE KR)
2|8|10| N7/ AFY 54.0 ) o) | (B J PN
R:T74+—T1F4F—XY%> B:O0—70—+ ST —L
fb 3 | WAESEE 1:42.4 2-2 38.8| — 2 462 | EBEHE (KR)
317|8 AAIL)) — 54.0 (3/4) (-3) AL
R:2g—)LFO0-X B:OAYIARTRKLF R Ak
3 9 S st 4 | WUABEE 1:42.4 1-1 38.9| — 3 445 | EEE= (KiR)
ali| 1| owrs—n—> 54.0 ) 2 | ) 75> K
LT RRA Y L= BKRTA NH—ZNL 75> Fiis
— N FmE 49 _ . — FES= (BE)
5 3| IFES-—F o7 o 1(742t;1 8-5 38.3 5 <5+142) e
R:HHUY BaALTE-N HT 0 A s
HER : = = 1&“’17KEE,5|J (7KR)
67| 7| 3xErU7 B s o | “l s |g
Z:o-xI>J0r B:h1TxeLT 3&%4&%
— . oA : — — ZHE&E (KR)
7155|724 T4 i 3 o 1.?3.1 9-9 38.9 9 (4_114) Kﬂﬁrsf%m 7
L:TUHA IR B:av Ry INEF4IS
TR — : - — N\FEEAE (B%FE)
8 NEXPES 2O 44 g (11.413/.24) 2-5 39.8 6 <4+870) /%!%#EE:
R:TA—T4F4F—XH> B:a3—-AK7Or b FRKBREBI 5
— = ke o6 | BIAE 1:43.5 2-8 39.7| — 7 430 |WILER (E&F)
9189 REFUIAZILER 540 (3/4) (+3) E‘jﬁ?ﬁﬂi’&
L:T7NHEy b BT INTa HFREANS
S, 5@ S 7 | BE3iE 1:43.7 10-1 . = 484 | AT (KR)
10 4 '7'//\9:7.'—77'7 * 54.0 (1 1/4) 010 .0 ’ (_82) (") 71
RiZa—A2FFL K BFLNFFTTY— =KH &M
® 1 — @B
13—7-—
20—F—
Ja=5= 1,(2,7,8,9,10),6,3,5,4
43—+ — 1,(8,10),7,(2,3),6,9,5,4
[ N5
B 6 260M 714K 6-10 1,850 e E 6-8 950M JEE 6-8-10 3,710
B B 6 110M 6-8 200M B = 6-10 5,040 EE 6-10-8 32,630
10 570 8-10 1,620 B H 6-10 5,770M
8 1209
ABICOVWTRHDTERERRODLDE, THERLE,




